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Quadratic card sort 
 
Place the cards below on the grid on page 2, aiming for at least one in each cell.  
If this is not possible, explain why. 
 

422  xxy  452  xxy  

352 2  xxy  442  xxy  

372  xxy  

234 xxy   

 

252  xxy  

 

96 2  xxy  

132  xxy  9102  xxy  

32  xxy  442  xxy  

3322  xxy  73 2  xxy  
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 Factorises with integers 
Does not factorise with 

integers 

Two x–
intercepts 

 
 
 

 

No x-
intercepts 

  

Repeated  
x-intercept 

  

Has a 
minimum 

point 
  

Has a 
maximum 

point 
  

y-intercept 
is 4 

  

 


